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Candidates should read carefully the instructions in the Question Booklet and OMR
Answer Sheet before start answering.

AT e & U G@RT T NS 3T & R W 3t fAf@e ol & fov
S[eTT AT ¥ A IO A H AT SABRY FfAC Y & AT AT G FAR AT
& IR A MIIT €T § A IR SFAGIN T8 F AT S| You have been

called for the written test based on the data furnished by you in the on-line application.
If you have wrongly entered information in the application or you do not possess the
required qualification as per our advertisement, your candidature will be rejected.

39 gt g & et i 3ufeAfy & (WY T IT) YA U W gEdRi A

You should sign the Call Letter (pasted with photograph) only in the presence of the
invigilator in the Examination Hall.

eeT-a3 90 Vel arel U YReA-GfEa! §1 YAl #1 3cck &el & T T 3rer
HNTANR e 3t HS I3 ¢

The question paper is in the form of Question Booklet with 90 questions. A separate
OMR sheet is provided for answering the Questions.

U 3eaT T ATH AT F O HTAFR e W PEsiE e & e A drd
qfge el (ST AT Arelm) H & TN A

Use only Ball Point Pen (Black or Blue) for writing/ shading on OMR sheet and marking
your answers.

FOU BT 3R ard e o e fhar g3 ave qRedwr Wl s (TEAES) NTAIR
e & afeq F r@ar 3R goe HET AT §1 VT A H W, e e H
St a¥gr &1 e

Question Booklet series code (A/B/C/D/E) printed on the right hand top corner is

mandatory to be written on the OMR sheet in the box and bubble appropriately. Failing
which, the answer sheet will not be evaluated.
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MuANR fe & 39ar A1 3T AT dqw SF 9 |

Enter your Name and Roll Number correctly in the OMR answer sheet.

fofea afier g & fov Auia deaar & 3R @ ar 3call & @Y aedfave
g T gl e @ dael TF 3ca) ATy 9 & HET g

The written test will be of objective type based on the qualification prescribed for the
post with four answers indicated, of which only one will unambiguously correct.

3T 3eal T A QU 71w el & 38R MNCAIR Seak g9 & FOT ISHR
el A IR §T WET 3ccX &l Tl A

You have to select the right answer by marking the corresponding oval on the OMR
answer sheet as per the instructions given in the OMR answer sheet,

Ydd TET 3ed< @ Teh 37eh & aeld 3 O¥ 0.25 3 e fhar sieem AR 3cal &
gl W e 37 TR

Correct answer carry one (1) mark each; Zero (0) for no answer and minus zero point
twenty five (-0.25) for a wrong answer.

R oY e & v w8 RFedl FI A W 3ca Ield HATAT AT

Multiple answers for a question will be regarded as a wrong answer.

HTANR ofic 7 s foe| dfaled a3 dic vereT =gt $r Sreah|
Marking in OMR may be done with utmost care. No spare OMR sheet will be provided.

ffa ofieT gfer & 3y FYC, Sageiey, Alasd Bl 3R e Folsciah
39T, UTST YEcan!, AleH 37fe, ST & 3rgAfd «er & S|

Computers, Calculators, mobile phones, reference books, logarithm table, electronic
gadgets etc. will not be allowed inside the Examination Hall.

ST B X UAUT I 3Ty TURT I YA TG H & ov FAT A1 TehdT Bl
5 JaRea e 78 & sreeh)

Space available in the Question Booklet can be used for rough work, if required. No
separate sheet will be provided.

ieT g gl W, (1)mm§mﬁr@3qﬁwm§mw(a FTHANR 3R
gk A MY W faesg e & e o of 3N AT AUANR 3cR g9 et
Fr "7 & 3R goelishe gfd 39 @Y of S Hhd

On completion of the test, (1) hand over Written Test Call Letters with photograph
pasted on it (2) tear the OMR answer sheet along the perforation mark at the top and

hand over the original OMR answer sheet to the invigilator and retain the duplicate
copy with you

Irfleart & qfieT & g B¢ & AR ST §iel Bisa I AT e ¢ |
Candidates are not permitted to leave the Examination Hall during the first one hour of
the examination.



bl B (hIEY) & Y gd Telldd ST&T
Written Test for Technician ‘B’ (Fitter)

qesT UF Al ; F/19001-A Question Paper No. : F/19001-A
HAged#d 90T : 90 Maximum Marks 90
Hecdd afer ; 1.5 ®er Maximum Duration 1.5 hours
el 3o faf@e . Write the correct Answer:
1. 15 HASHIT = mm
1. 15 micron = mm.

3lla 0.015 /b 15000

&/ 15 3/d 1.5

2 afe g (8e) 1 719 60 + 0.01 §, ar Te=d &

2. If the size of hole is 60 + 0.01, then the tolerance is:
3lla 0.02 mm /b 60.01 mm
il 59.09 mm s/d 0.01 mm
3. Seec{BRRH e & AarFe & A9 g & AT F g § |
3. In interference fit size of shaft is than hole size.
3la 931 / greater g/b  @ler/ smaller
FHlc  TH HAE/ equal 3/d g1 ¥ s o AE/ None of above

4, gelldl (87R) & a9 6 & o S ¢ |

4. Hammer size is given by this.
3a  aoie [ weight Fb @S / length
hic &¢ / volume g/d R / shape

TS IS & 39N 36 AARTST F FEA FA & fod g ¢ |
5, New file is used to file this type of material?
3ifa T [ soft d/b & / hard

6. cfaee Qe &7 FHET HIUT (W) &

6. The cutting angle of twist drill is:
3la 118° a/b 138°
hlc 108° 3/d 98°
{fFa Fr oty Gifeler & afd & g
Speed of reaming is than drilling speed.
3/a &I / less &/b FATET [ smaller
F/c  Udh FGHE/ equal g/d 38 ¥ Uk 8t A€/ None of above

A FaR s 12 mmea @

8. In three start thread, if lead is 12 mm then pitch is:
3/a 4 mm d/b 3 mm
&lc 6 mm g/d 12 mm
9. sin90°=_
3t/a 1 /b 0
/c 0.867 3/d 0.707

F/19001-A
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7 O fhg #ONTe 9 29 99 smar 87

From which material tap is made?
3/a @S @ee Tl / high carbon steel d/b  @I¥e 3/ cast iron
w/ic  AUfAF / equal s/d s ¥ T / All of above

FANH Fel #H ACT Ay wew ¢

Main alloying element in stainless steel is:

3a  PIEIA / chromium d/b feael / nickel

Fic  AASIH / vanadium 2/d #Tel / carbon
AT & (f3e0) 9o aod gaehoie S 39dler fahar J1ar ¢ |
To drill in aluminium thiscoolant is used.

3d/a  FEE [ kerosene /b qsiT / water

w/lc  SAE40 33 / SAE40 oil g/d aoqat ¥ vs off 8/ None of above

This type of thread is given on the screw of bench vice.

I 95F #, T & IR 39 IFR & 97 (I8) T § |

Hla  dleR(EHdY) / Square db @V

F/c & T /B A 3/d 3 @ usk o ST/ None of above

PR (i) 3R i B g ¥

The alloy of copper and zinc is:

3a  dide / Brass /b &Er / Bronze

Hlc 6T AT / gun Metal 3/d g ¥ U o SAE/ None of above
TAdT FT FHS ¢

The unit of density is:

3/a  gmlem® b kg/m®

Hc  gmm® 3/d = & s/ All of Above
e FIOTRT WITOT & AR T ¥ |

{w\ | indicates angle projection.

3ifa =gy /Fourth @b gfad /Second

/. Fj_?-ﬂ'J {Third d./s.  UUH/First

1 kg = ur3g (Lb) |

1 kg = pound (Lb}.

la 0.2 d/b 0.22

&h/c 2.2 s/d 1.4

H.S.S. & A& 7 ueeh ¢

Main alloying element in H.S.S. is:

3/a  EaFes / Tungsten  @/b  @IMX / Copper
®lc & / Zinc gd O (of8) / Leade

PR F AR AT &1 AT T B

Sum of four angles of square is:

3/a 90° g/b 180°
Ele 360° s/d 270°
2

F/19001-A



20.
20.

21
21.

22
22

23
23.

24.
24.

25.
25.

26.
26.

27
2

28.
28.

29.
29.

30.
30.

31
31.

<~ Uehd & AdAd
<~ is the symbol of:
Fla  FHJIAI / Flatness /b WA /Parallelism
@ic  oadr / Perpendicularity g/d T H13C / Run Out

BSW &l Q1 #1H g:fefeer weress eflead
The full form of BSW is: British Standard Whitworth
3a  Har/ True /b Il / False

YeeX G HT 0T (TITe) 90° & |
Angle of centre punch is 90°
dla  wEr/ True d/b el / False

afefe aqe W B FAae AT AfFd 5 S § |

The least count of vernier bevel protector is 5 seconds.
da  wel/ True d/b Ield / False

Sd 398 AT +0.15 mm3i &FT @A -0.05 mm g, d9 Hed W aleked 0.2 mm 8iar g |

When upper deviation is +0.15 mm and lower deviation is -0.05 mm, than the tolerance on

the part is 0.2 mm.
dfa  WEr/ True d/b Ireld / False

5 cm 8fsirarel @iehiy &l aRATT 10 cm g1 |

The perimeter of a square with 5 cm side is 10cm.
dfa  wer/ True d/b ITeId / False

Wire can be drawn from metal due to the property called ductility.
AT AT T gstg QU A A d (dR) Wi TR
da  H/E/ True d/b  JTeld / False

¥ far s A9 & fov afday dediax & 3udier off g Tl § |

Vernier caliper can also be used to measure depth of hole.
Hla  wEr/ True /b T1dd / False

gt ey & AU Uk GHIA heldl TS &l 3GANET hdell A1 |

For all materials, same cutting speed can be used.
Hla Wl / True d/b 3ol / False

Nedareii ufthar & Ases T & IR PRI & Hifcar g arar g |
Mild steel is coated with chromium in galvanising process.
Fa ger / True d/b el / False

tan0 &1 FgecH Hed 1 ¢ |
The maximum value of tan® is 1.
a  gar/ True &b Teld [ False

WY Tl ddhs ¥ g8 Al § |

Surface plate is made of wood.

3a el / True d/b T / False
3

F/19001-A
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6 cm, 8 cm 3R 10 cm dIs[drel GHAHIT fdeplst &I HTATH &

Area of right angle triangle having sides 6 cm, 8 cm and 10 cm is:
dla 24 cm® ab 40 cm?

c/& 30 cm? gld 7.5 cm?

1 9 & golNd 19T &) Fgd § -

1/1000 of an inch is known as -

3a  HABHIA / Micron b F=r #rex / Nano meter
clsh 73 / Thau g/d 3ifs/Onz

AT AR F g W, de Ao B A (M) -

With the increse in gauge number, the thickness of sheet metal -
dla  d&dr ¢ / Increases /b FA giar g / Decreases

c/&  FHW @' & / Remains constant g/d g ¥ U 87 s None of above

e fAffad fid sy |, rpm g W], & ¥
At particular drill diameter, if rpm is increased, the cutting speed
Hla TS W §/remains constant @b 9ear & / Increases

@®/c @A gidl § /decreases g/d 38 A S o 7E/None of above

ST 399 WA +0.08 mm 3 P @A +0.03 mm @, 9 ged WX Soked § -

When upper deviation is +0.08 mm and lower deviation is +0.03 mm, than the tolerance on

the part is
3/a 0.011 mm d/b 0.11 mm
&/c.  0.005 mm 3/d 0.05 mm A

AABC & foiUcoso =

For AABC, cosf =

3a  ABIAC b AC/BC [\
#lc  BCIAC g/d  BC/AB

U v By & Qe f Agcdn e &

Maximum no. of triangles in the given figure is:

3/a 8 g/b 12

&ic 16 s/d 20

diee gueh anr fAfader far ST &

The bolt can be specified by

3a 93 F wEHR / Type of thread /b w@ds / Length

F/c. T / Pitch dis g8 @ 9R / Type of head

IR 120 mm PCD WX 6 &¢ @) fxd a0 & ar & oredey (qg-u &) 3¢ & fag & 3 a2

g2

If 6 holes are drilled on PCD of 120 mm, what will be the centre distance between two

adjacent (nearest) holes?
3/a 30 mm /b 60 mm
&hic. 120 mm 3/d 240 mm

F/19001-A
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fAfelar @ex &7 &l s 16.5 mimin. § | afE &eX &1 &y 21 mm § @ X & rpm glev |

(n=22/7)

The cutting speed of a milling cutter is 21 m/min. Find the rpm of cutter if diameter is 21
mm. (n=22/7)

31/a 25 /b 250

Eole 2.5 3/d 2500

e & @R v art @ g9 RT | p=10 gm/cm®. (n=22/7) i
Find the weight of the part shown in figure. p=10 gm/cm?. {
(n=22/7) gilll B
A Wl a9 mmdl o aw g |

Note: All dimensions are in mm.

da  37.32 gm d/b 373200 gm 80

&ic 37320 gm 3/d 373.2 gm

Tl T MAT gEa A, e M 9 20 gid § 3 600 rpm W § | 60 giddarer fgaer oy &

e R |

In a simple spur gear drive, the speed of driver gear having 30 teeth is 600 rpm. Find the

speed of driven gear having 60 teeth.
3la 200 rpm d/b 12000 rpm
alc 600 rpm g/d 20 rpm

Tmx1mdérafe § AT 25 mm x 25 mm & frder @e (@RF) T 37 Tohd & ?

How many squares of 25 mm x 25 mm can be cut from 1 m x 1 m sheet?

/

3a 625 a/b 160

@hic 1600 s/d 40

R F @R @ 3R &1 IRA (Ran) gl | =
Find the area of the shape shown in figure. [4-9'l
e |l AdmmaA few a1v & |Note:All dimensions are in mm. 30’

a/lsT 4500 mm? b 2250 mm? |

@c 3000 mm? z/d 1500 mm?

50

60

YT dee 35T F 100 mm A T FEA el 1400 rpm WA @ § | ARG TFaT qelr 1400

rpm W HH @) § o 3FH I e |

In open belt drive, the driver pulley of 100 mm is rotating with 1400 rpm. Find the diameter

of driven pulley If it is rotating with 1400 rpm then.
3la 200 mm d/b 100 mm
hic 1400 mm s/d 140 mm

R o @Ry 7 3 dr aRATT gev |(n=22/7) ol
Find the perimeter of the shape shown in figure.(n=22/7)

|
i
[
i
|

= @ Aamma T 10 § [Note:All dimensions are in mm. W
3la 170 mm d/b 100 mm
&/c 390 mm s/d 280 mm

(n=22/7)
3i/a 44 mm d/b 40 mm
&/c 35 mm 3/d 22 mm

4

70
AT e &1 HEET T8 44 m/min. § | I weX & rpmd00 § Al el &l <y gfeu | (n=22/7)

The cutting speed of a milling cutter is 35 m/min. Find the diameter of cutter if rpm is 400.

F/19001-A




69.  afy @S Ao 1 W 60 F. W 80 %. dg AT Al fhelal % v Seldr g3 ?

69. If the prize of an item is increased to Rs 80 from Rs. 60, the % increase is?
31/a 333 % g/b 25 %
&/c 20 % s/d 30 %

70. 1000 %. 9¢ 6% =TTor &¢ X 3 Frel & [l Tt ed1al by A gl ?

70. The simple interest for the amount of Rs.1000 at 6% rate for 3 years is:
3/a Rs. 60 d/b Rs. 120
&hic Rs. 180 dis Rs. 240

e 71 @ 75 & fod, Rw 1 F R@w @ ady & YR & Wel S5 Tl
From Question 71 to 75, match the parts from the fig. 1 of Types of Vice.

71. i 91 FeX &3 arsg g2 W@ 87

71. Which no. represents hand vice?
da A /b B
&ic C 3/d D

72. @I T A O Ay gl T@r 87

72. Which no. represents pin vice?
3/a A d/b E
&hic C 3/d A
73. @l AT AS] UIRT aed a2l W@l 8?
73. Which no. represents pipe vice?
3/a D d/b B
&/c C s/d D

74, FlaT A1 A 9w N gy gal @r &7

74.  Which no. represents quick release vice? weel 71 @ 75 & fod AT -1
3/a A /b C Fig.1 for Q-71 to 75
&h/c E g/d D

75. @i W Y T AT asE gl W@ 87

75. Which no. represents tool marker vice?
Ia A d/b B
&ic E g/d D

yeaT 76 ¥ 83 & fad, fw 2 f R@w 7 oy wd & gEad & 6gl Sy qe i

From Question 76 to 83, match the parts from the fig. 2 of Pliers and Screw Drivers:

76, @la G A RRfored §5 ¥ Savaa @I g?
76. Which no. represents Philips head screw driver?
3/a F dg/b =
Hc  E g/d H : B I —
g—m—-‘ p—
. gl 76 ¥ 83 & o -2 |7 .
77. et G AR ET ST AR @l T §? Fig. 2 for Q-76 10 83 | &= ==
7T, Which no. represents slip joint pliers? ”
Fa A alb B
wc C gld D

8 F/19001-A




78.  @leT AT HeR AISC 3YLT Th grsa¥ gl el 82

78. Which no. represents light duty screw driver?
37/a E /b G
oo F g/d H

79. @I G AR WSS HEIT CoRR AT @ §?

79. Which no. represents side cutting pliers?
3/a B /b C
&lc A s/d D

80. FlT GT 76 FAT AleT Tara g2 T 87

80. Which no. represents flat nose pliers?
3la D d/b G
Eale A 3/d C

81. FlA AT AaC 3T el SR 2T T@T 87

81. Which no. represents Round nose pliers?
3/a C d/b B
&h/c A 3/d D

82. i TT AeY ATHAC T Frsal a2l TGT 67

82 Which no. represents Offset screw driver?
3/a H d/b G
Eale B g/d E

83. @l W Aax W Awde & geav el W §?

83. Which no. represents Ratchet offset screw driver?
3a G /b H
&ic E 5/d D

geT 84 @ 90 ¥ fordr, R 3 #f R T ARy vor & a9 & 9§ S5 &
From Question 84 to 90, match the parts from the fig. 3 of Diferent types of Gauges:

84. @l @7 aax eux far aer 2ot w@r 872

84. Which no. represents Taper ring gauge?
3/a D a/b A
Hlc E g/d G

85. FleT GT FaC ST AT &2l & 87

85. Which no. represents Plain ring gauge?

va C /b F

Cale B s/d A

gt 84 & 90 & o -3

6. Flr @1 Fag A2 T Ao gaf @ 22 Fig. 3 for Q-84 to 90
86. Which no. represents Thread ring gauge?

3/a B d/b F

&wc C 3/d A

9
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87.

88.
88.

89.
89.

90.
90.

Pled AT A S USE ToleT I g2 1@ 872

Which no. represents Double ended plug gauge?
3/a F d/b A

Hlc G 3/d C

FleT T R WIRfiT e AT g2t @ 82
Which no. represents Philips head screw driver?
Ja A &b F
&ic B s/d C

FleT T el USSEel HelluR AT 2T IET §7?
Which no. represents Progressive plug gauge?
3/a E d/b E

Cale D g/d A

FieT @ daw WEEw A gl @ @2
Which no. represents Radius gauge?
da G /b F
&/c C 3/d

CTR T S )
PR X R R X

6 &Y

Yoy & G158 H 3TANT I I & O R dhd ¢ |

Rough Work

You can use the side space of paper for rough work.

10
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